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Lecture schedule

5. Introduction to solve engineering problems with finite-difference method

- Taylor series expansion, Approximation of the second derivative, Initial condition and 

Boundary conditions

6 – 7

4. Introduction to numerical methods 

- Finite different method, Finite volume method, Finite element method, etc.

5 

3. Overviews of  governing equations for flow and heat transfer

-Elliptic, Parabolic and Hyperbolic equations

4

2. Introduction to Fortran programming

- Basic commands in Fortran programming 

2 - 3

1.Overviews of computational fluid dynamics

- Overviews and importance of heat transfer in real applications
1

TopicsSession



3Chainarong Chaktranond, Thammasat University

Contents

Finite difference method

Numerical discretization schemes



4Chainarong Chaktranond, Thammasat University

Solving the fluid dynamic equations
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Explicit Euler method
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( )0, 5u x =Initial condition

กําหนดให Δt = 0.5 และ Δx = 1 ดังนั้น a = 0.5, b = 0, c = 0.5

Explicit Euler method
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Explicit Euler method
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At t = t + 2Δt
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 program diffusion 

 parameter (n= 10,m=10) 

 real u(0:n+1,0:m+1) 

 open(1000,file='OUT-diffusion',status='unknown') 

 dt = 0.5 

 RX = 10.0 

 dx = RX/real(m) 

 dtdx = dt/dx/dx 

 do 10 i = 0,m 

 u(0,i) = 5.0 

 u(0,0) = 1.0 

 u(0,m) = 1.0 

10 continue 

 do 110 j = 1,n 

 do 100 i = 1,m-1 

 u(j,0) = 1.0 

 u(j,m) = 1.0 

 u(j,i) = dtdx*u(j-1,i-1)+(1.0-2.0*dtdx)*u(j-1,i)+dtdx*u(j-1,i+1) 

100 continue 

110 continue 

 do 210 i = 0,m 

 write(1000,1001) real(i)*dx,(u(j,i),j = 0,n) 

1001 format(e8.3,x,11e8.3) 

210 continue 

 stop 

 end
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Assignment 2

จงใชวิธี Explicit Euler method คํานวณและวาดกราฟการเปลี่ยนแปลง คา

ความเรว็ u ณ ตําแหนงและเวลาตางๆ เมื่อ Δt = 0.05 และ Δx = 0.1, 0.2, 0.4, 1, 
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Implicit Euler method
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Implicit Euler method
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เมื่อตัดคาที่ boundary conditions

สมมติวาพิจารณา 5 grid
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Implicit Euler method

Know initial and boundary conditions
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tridiagonal matrix algorithm (TDMA)
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ขั้นที่ 1 หารเมตริกซแถวแรกดวย b1
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ขั้นที่ 2 คูณแถวที่หนึ่งดวย a2 แลวนําไปลบออกจากแถวที่สองและกําหนดให
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จากตัวอยาง Implicit Euler method
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Other methods

1 1
1 1

2

2
2

n n n n n
i i i i iu u u u u

t x

+ −
− +⎡ ⎤− − +

= ⎢ ⎥Δ Δ⎣ ⎦

Richardson method

DuFort-Frankel method
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แทนเทอม diffusion ดวย 1 1

2

n n
i iu u+ −+

Truncation error ( ) ( ) ( )2 2 2, , /O t x t x⎡ ⎤Δ Δ Δ Δ⎣ ⎦
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Other methods
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Lassonen method (Euler implicit method)

Crank-Nicolson method
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Assignment 3

จงใชวิธี Implicit Euler method คํานวณและวาดกราฟการเปลี่ยนแปลง คา

ความเรว็ u ณ ตําแหนงและเวลาตางๆ เมื่อ Δt = 0.05 และ Δx = 0.1, 0.2, 0.4, 1, 
2

2

2

u u
t x

ν∂ ∂
=

∂ ∂

กําหนดให 1ν =

( )0, 5u x =

( ),0 0u t =

( ), 0u t L =

Initial condition

Boundary condition


